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program kombin;

var x,y:integer;

function c(n,m:integer):real;

begin if m=0 then c:=1

else c:=n/m*c(n-1,m-1);
end,;

begin readin(x,y);

writeln(c(X,y):5:2);

readin;

end.
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program tr_P;

const n=4,

var x,y.integer;

a:array[1..n,1..n]of integer;

function c(i,j:integer):integer;

begin if (j=1) or (i=j) then c:=1 else

if i<j then c:=0

else c:=c(i-1,j-1)+c(i-1,));
end;

begin

for x:=1 to n do

for y:=1 to n do a[x,y]:=c(X,y);
end.
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programkol vo dej varz:integer
functiondnx(n,xinteger)integer

beginif x=1thendnx=1 else

If N modx=0 thendnx=1+dnx(n,x1) elsednx=dnx(n,x1);
end

beginreadin(z)writeln(dnx(z,z)) end
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0,1
00,01,10,4%

000,001,010,064%1,
100,101,316,331

F(1)=2
F(2)=3
F(3)=5

F[N] = F[N-1] + F[N-2], f tc & > 2.
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program n_bit;

var n:integer;

function f(k:integer):integer;

begin

If k=1 then f:=2;

If k=2 then f.=3;

If k>2 then f.=f(k-1)+f(k-2);

end;

begin readIn(N);

writeln(f(N));

readin;

end.
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F(OX) = F(XT 1) + F(XT 2) + F(XT 3).
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